SERVICE
MANUAL

Stereo Integrated Amplifier
L-435

Temporary

LUXMAN s aceonares amauin case
e e .

A

AA4



Schematic Diagram

EQUALIZER PC.Board

| e a Al
I | i 3
I P
I igg|
| » | I
LCH I I
110}
PJN&NO C': $1103-1 l |
FUNCTION l
| a2
|
K2
[
[
s IL' 0:;' aR34szs A ! } I
- an
TUNER -
Ifﬁu[c' J Bgs B3z gz 01103 ictol |
av CRUEC 25C2235 NJM2043
4
-

VOLUME P.C.Board

P PL2 PL3 P4 PLS PLE  PLT
FUNCTION
PL. ST TUNER CD PHONO AV  MON
E
[TTTTTTT poee —
le[ T T T iz

54201
FUNCTION

1
I
I
I
I

A

FUNCTION
PC.Board

TONE P.C.Board

MAIN PC.Board

14401 Fr—————————————
REC | + 7 S4101-1 $4103-1  S4105-1 22
MONITOR _ TAPE |2 _ DUBBING | 3
(TapE-1) B T
MON | (% + ) | -
LeH ! |
14403 ! ! |
REC T |
[Iuppz} l
MON T @ .
5 |
| 138 3 |
4
L » |
I b Il
1
I —J
___________________ \
r i
S b4
Jum[@" k4 k3 =
4= = |
RCH | :,_.J
moc[ < | |
. I
e — J g U S
Rt ree— j
! 54107-1 54109-1 Salli-1 |
| Lowcut  wiGH cuT MONO |
i A
Sx R4103 4103 :
| 32 I 00P l
! 'j, o—
| |
! 5| .
| go |
| v o i
| ca101 R4I05 VR400I-1  VR4003-
| 022 27K BALANCE _VOLUME !
| san CoNT___CONT. 1
I | ouoness e = a0
12K
| ¥ i
| | gIﬂ 55 = 08
| 5T 3= 250K MN ] 3
|
i LR ,
| r oo 1
h Y@
| fzzzgzsis — | |
|| sgiizzIse
low |
| 2gex8d I
| ZTEess |
e e e e e e o -
S4115 |
TONE W
p S, o—— )
| 3
I RaII3 1M

R4S
L)

-

NOTES:

1.

All resistance values are in ohms. K = 1,000
2. All capacitance values are in microfarads. P =

1,000,000

P TS TTITT T -—1 [ T T TS -
| 14501 : Reses_| ) ' |
' T l
[ oy 680 __1/2W I
i pPC4556C X N f | - & ol w8 701 0o L CH
| g |8eT i | I | g ST8 8 P A SPEAKER | J7103-1
= @ o 5 <
] 8
| | 827 | I | o R7137 }
| glg | | 2]y {0 oW ) !
@ own
| [casis < | |
4503 2p 22750 R 4N Sg ' Q7119 s7102 |
| - y 21g iTs ) ' 253298 | == e o semcers] =" o] Con
I I §§“ i etz mro | ’ Q7107 FINAL R7151 180 | JT03-2
| S 680K foss i | 18 | | [eSAlOIS STAGE 180 Smv] |
b I W
' | ! ! | | = z —-—F-- 2 ae’ns& |
I | 2y 2% ay s
| g, [ raso7 R4509 _ 1'2‘ 3 =3 | 18 . |
| S5z 15K 27K $8x TOR | | &g e L_§_3_ &8 |
& RasIH g~ IU | ! S 2 T
| >-—l ” W ” 3 I | = Jd
| I 178 cor . 738 T T 1 a7l rrLE | e
| l&— ooe8 o |52 | l | 2sCI8I5 |foey | —IE‘: 23
1T ~
| ; HR g | | [cunresm RTIST s e
8= 3o rasis 18 | | LIMITER 180 | F5my s
' g2 | £ 2z | g2
| | § &” 7 ey ¥ | = | | Q712| R7155 e
| g ] 22 |nt:;:vtgj| I 25A1306 Bl
| £ NCIRS RN EEEEE T I e
& ox o ||33§55mxo || | R7139 e4s 3= ~
o 3 ] 248 z
I+ = & 23 | | | ] | W0 172w, £¥o =71¢o e
NS ©CoRoNDN @Y 4 = 1
I | » | leg2ononey
B Jlggsedeesy I sle
(g cadlasd | ST8 Q7125 | Q7129 Py
o | g S| "y 2
—le3eog8aesg | ind 5 =
jc§e2ocnd | 07107 Q7115 Q7113 Q7125,Q7129 8
| g&3czEsz I l | 152462 (Q7118) 2SAI0IS ~ 25Ai265 A
Lk 9 Lo 4 | 25A1360 [FINAL STAGE -
—_— — e T — e — — I O L1
r ___________________________
="}
lBecosssggoraesgBgayagerzncags |
SE55x50055585a0a5aaaocxreoxson
| |
’ T
' liyscsgires§Sysenessagss: §58 88 1 | |
e e . . — — — —— ———— ] IS 5555 CES55E5E55558E555055058 55 |
[T " T T etk mames T T T T T 3 -_—————— e ——— |
1C7101 STK3102 MARK3 | !
} | R7169 56K P i
W }
| I PROTECTION o2} Lo
| | CIRCUIT 5SS+
! 0 + =2 gg e
i A I 2 Y
I S5 b >+
' | 3 [% ”
1 -
! | N =8 I
| CURRENT | N R
| MIRROR 1 o3& =
| o POWER ON/OFF MUTING VOLTAGE REG. =g
| (O—1D 1 [ DETECTOR CIRCUIT POWER CIRCUIT 5.3
|R7I07 C7150 - ' 1 -
220 I/ oV ’Lﬂ l l
| - ; OVER_CURRENT oR SCHMITT RELAY DRIVE
=] RTI1S 15K —t DETECTOR CIRCUI CIRCUIT CIRCU
8 568V — CIRCUIT
: e |
N C7229 0P
= e + )— +0C VOLTAGE
: 3)——{DETECTOR CIRCUIT suasrmr:J l DISCHARGE ] §§ I
=
RTIN7
DRIVER STAGE f ! 9 P |
e 1C7102 i |
cre3  cren
| 477100 4.7/100) TAT3I7P
298 | 4+
=55 | e V)3 [|<x —— J D — |
> | = N Ee r— on
o o FOR SK/SG MODEL
_____________ J = =3 ., —_—— T e e e e —————— — —— — 7
5 =83 + 883
N g =g Fag00] 58 |
7ov) 2S5C3421 %0 aw vl | <« 52 A |
* ' a =X
H z I Pl |
28 ' ) 3+ = 220~ 240V
1N o3 °X X 50/60Hz
S8 S€ 5 e =
e - 807101 _8+
05FB20 ggu I |
— S
V. STABILIZER s 3 2 7' l
A7I03 2 §§“ I
820 3w 65 SgT. |
&€ paf l - —_—_ -
+58  [+GR Wr
= - R7I7I I
§: ol 68K
ES7ST > J_1
+ 42.7V | ORG
H__ov]eix 0RG =
1 s27v|GRY (ID é)
1 8 PONgAGTIT H as2v BRN [O= =
o8 5 PANPGIITHTY —{482v_8LY _l ;
F7103 1A — 126V YEW BLu
1€ —ON\0- o ®
07119  IN400313 F7104 14 — Lkl
| B 260 e 3| Baux
” I
b e e e ———— e ——————— )

FOR EK MODEL



Exploded View (Cabinet)

Voo

bob \2\/\

=y
0\
LY
//., \

J \

\ {

/ £ /
7
L 0/4//%/.‘\ f% g
< //mw ‘V‘NA fmv ”\
@ @ @ @@\ ., .‘
_.(a Q.H \@ /

’/‘u.

/




Electrical Parts List

‘ L435

Resistors {(All resistors are carbon film, %W, +5% unless otherwise noted.)
uF = microfarads, pF = picofarads

Symbol Part No. Description Symbol Part No. Description
No. No.
Equalizer P.C. Board C1115 | 23T42478F09 | Electrolytic 4.7 uF/25V
C1116 | 23T42478F09 | Electrolytic 4.7 uF/25V
Ic C1117 | 23T42478F24 | Electrolytic 1.0 uF/50V
IC1101 | 51T52153F01 | NJM2043D-D C1118 | 23T42478F24 | Electrolytic 1.0 uF/50V
C1119 | 23541198U42 | Electrolytic 220 uF/25V
C1120 23541198042 | Electrolytic 220 uF/25V
C1129 | 08T57705F16 | Mylar 8200 pF
Transistors C1130 | 08T57705F16 | Mylar 8200 pF
Q1101 | 48T60558F01 | FET, 2SK240BL
Q1102 | 48T6B0558F01 | FET, 25K240BL
Q1103 |48T51120F01 | 25C2235-Y
Q1104 |48T51120F01 | 25C2235-Y
Resistors
All resistors are Metal Film, 1/2W £5% unless otherwise
noted
R1107 | 06T55175F63 1K ohm
R1108 | 06T55175F63 1K ohm
LEDs R1109 | 06T55175F63 1K ohm
LD1101 | 48T52953F01 | LED BR3432S (RED) 21 1 :g ggggggigj 118'3 °:’"
LD1102 | 48T52953F01 | LED BR3432S {RED) ohm
R1116 | 06T55175F47 180 ohm
Switches
S1101 | 40T71217F01 | Slide (Cartridge MM/MC) Tone P.C. Board
S1103 | 40T70247F01 | Slide SSR244 (FUNCTION) I
S4101 |40T71245F01 | Push SUFR43 (MONITOR)
IC4501 | 51T51173F01 | uPC4556C
Diodes
Capacitors ZD4501 | 48T52739F71 | Zener HZ12A-2
C1103 | 08T42081U01 | Polystyrol 100 pF ZD4502 | 48T52739F71 | Zener HZ12A-2
C1104 | 08T42081U01 | Polystyrol 100 pF
C1107 | 08S40656F01 | Mylar 1000 pF
C1108 | 08S40656F01 | Mylar 1000 pF
C1109 | 23T42478F31 | Electrolytic 47 uF/25V Capacitors
C1110 | 23T42478F31 | Electrolytic 47 uF/25V C4501 | 23T42478F26 | Electrolytic 2.2 uF/50V/
C1111 | 08T57705F76 | Mylar 0.056 uF C4502 | 23T42478F26 | Electrolytic 2.2 uF/50V/
C1112 | 08T57705F76 | Mylar 0.056 uF C4503 | 08T61642F02 | Mica 2 pF
C1113 | 08T57705F69 | Mylar 0.015 uF C4504 | 08T61642F02 | Mica 2 pF
C1114 | 08T57705F69 | Mylar 0.015uF C4505 | 23T42478F26 | Electrolytic 2.2 uF/50V/




1435 i

Symbol Part No. Description Symbol Part No. Description
No. No.
C4506 | 23T42478F26 | Electrolytic 2.2 uF/50V Q7109 | 48543525F02 | 2SC1815-Y
C4507 | 08T57851F11 | T.F 0.068 uF Q7110 | 48S43525F02 | 2SC1815-Y
C4508 | 08T57851F11 | T.F 0.068 uF Q7111 | 48543525F02 | 2SC1815-Y
C4509 | 08T57851F21 | T.F 0.47 uF Q7112 | 48543525F02 | 2SC1815-Y
C4510 | 08T57851F21 | T.F 0.47 uF Q7113 | 48T51118F01 | 2SA1015-Y
C4511 | 08T57851F34 | T.F 6800 pF Q7114 | 48T51118F01 | 2SA1015-Y
C4512 | 08T57851F34 | T.F 6800 pF Q7115 | 48T64375F01 | 2SA1360-0, Y
C4513 | 08T57851F09 | T.F 0.047 uF Q7116 | 48T64376F01 | 2SC3423-0, Y
C4514 | 08T57851F09 | T.F 0.047 uF Q7117 | 48T64376F01 | 25C3423-0, Y
C4515 | 23T42478F26 | Electrolytic 2.2 uF/50V Q7118 | 48T64375F01 | 2SA1360-0, Y
C4516 | 23T42478F26 | Electrolytic 2.2 uF/50V
C4517 | 08T42081U13 | Polystyrol 330 pF
C4518 | 08T42081U13 | Polystyrol 330 pF
C4519 | 23T42478F09 | Electrolytic 4.7 uF/25V
C4520 | 23T42478F09 | Electrolytic 4.7 uF/25V
C4521 |23541198U42 | Electrolytic 220 uF/25V
C4523 | 23541198U42 | Electrolytic 22 uF/25V Diodes
C4525 | 08T42081U01 | Polystyrol 100 pF
C4526 | 08T42081U01 | Polystyrol 100 pF D7101 | 48540477U01 | IN4003
D7102 | 48540477U01 | IN4003
D7103 | 48540477U01 | IN4003
D7104 | 48540477U0%1 | IN4003
D7105 | 48T52198F01 | 152462
D7106 | 48T52198F01 | 152462
D7107 | 48T52198F01 | 152462
Resistors D7108 |48T52198F01 | 152462
R4525 | 06T55175F61 | Metal Film 680 ohm 1/2w | | D7109 | 48T71195F0T | 151553
R4527 | 06T55175F61 | Metal Film 680 ohm x 1/2w | | D7110 1 48T71195F01 | 151563
VR4501| 18T56663F01 | Volume, Rotary 50K ohm x 2
VRA503| 18T56663F01 | Volume, Rotary 50K ohm x 2| | 07111 | 48T71195F01 | 151553
D7112 |48T71195F01 | 151553
D7113 | 48T71195F01 | 151553
D7114 |48T71195F01 | 151553
D7115 | 48T71195F01 | 151553
Main P.C. Board D7116 |48T71195F01 | 151553
D7117 | 48540477U01 | IN4003
IC’s D7118 | 48540477U01 | IN4003
1c7101 | 51T70237F01 | STK3102 MARK 3 D7119 | 48S40477U01 | IN4003
1C7102 | 51T67437F01 | TA7317P D7120 |48S40477U01 | IN4003
BD7101 | 48T67435F01 | DS5FB20
ZD7101 | 48T52739F86 | Zener HZ20-2
. ZD7102 | 48T52739F86 | Zener HZ20-2
Transistors ZD7103 | 48T52739F71 | Zener HZ12A-2
Q7101 | 48T69176F01 | 25C3421-0, Y
Q7102 | 48T69177F01 | 25A1358-0, Y
Q7103 | 48T51120F01 | 25C2235-Y
Q7107 | 48T51118F01 | 25A1015-Y
Q7108 | 48T51118F01 | 25A1015-Y




1 L435

Syl\rlr;bol Part No. Description Syl\rll:)bol Part No. Description
T uctors C7111 | 23C42170G38 | Electrolytic 2200 uF/25V
C7112 | 23540657F28 | Electrolytic 1.0 uF/50V
31212 gggg:gigg g“‘;t‘: HZ: C7113 | 23T57007F04 | Electrolytic 0.47 uF/50V
: C7114 | 23540657F35 | Electrolytic 47 uF/50V
C7115 | 23540657F35 | Electrolytic 47 uF/50V
C7116 | 23540657F35 | Electrolytic 47 uF/50V
Relay C7117 | 08T42081U13 | Polystyrol 330 pF
C7118 | 08T42081U13 | Polystyrol 330 pF
RL7101| 80T63360F01 | G2Z-222P-US C7119 | 23T42478F24 | Electrolytic 1.0 uF/50V
C7120 | 23T42478F24 | Electrolytic 1.0 uF/50V
C7121 | 23540657F28 | Electrolytic 1.0 uF/50V
Switches C7122 |23340657F28 | Electrolytic 1.0 uF/50V
S7101 T20T70252F01 | Push SUNZ3TS C7223 |23541198U42 | Electrolytic 220 uF/25V
(A SPEAKERS) c7224 |23541198U42 | Electrolytic 220 uF/25V
s7102 | 20T70252F01 | Push SUN231S C7225 |08T42081U17 |Polystyrol 470 pF
(B. SPEAKERS)
C7226 |08T42081U17 |Polystyrol 470 pF
c7227 |08T61642F22 | Mica 56 pF/500V
C7228 |08T61642F22 | Mica 56 pF/500V
ks C7229 |08T61642F06 | Mica 10 pF
C7230 |08T61642F06 | Mica 10 pF
17702 | 09T70238F01 | Terminal SPT5968-R
J7103 | 09T70238F02 | Terminal, SPT5958A-L C7231 |23T68328F83 |Electrolytic 4.7 uF/100V
C7232 |23T68328F83 |Electrolytic 4.7 uF/100V
C7233 |23T68328F83 |Electrolytic 4.7 uF/100V
C7234 |23T68328F83 |Electrolytic 4.7 uF/100V
—— C7235 |23T68328F83 |Electrolytic 4.7 uF/100V
A ggxgg;%}g Sk A C7236 |23T68328F83 |Electrolytic 4.7 uF/100V
F o | ooras017U16 | Semko T-1A C7237 |08T57705F59 |Mylar 2200 pF
F o | oarasor7U16 | Semko T-1A C7238 |08T57705F59 |Mylar 2200 pF
C7239 |08T57705F59 |Mylar 2200 pF
C7240 |08T57705F59 |Mylar 2200 pF
C7241 |08T61642F25 |Mica 82 pF/500V
C7242 |08T61642F25 |Mica 82 pF/500V
Capacitors C7243 |08T61642F25 |Mica 82 pF/500V
C7101 | 23T71216F01 | Electrolytic 15000 uF/63V C7244 |08T61642F25 |Mica 82 pF/500V
C7102 | 23T71216F01 | Electrolytic 15000 uF/63V C7245 |08T61642F22 |Mica 56 pF/500V
C7103 | 23T68328F91 | Electrolytic 470 uF/100V
C7104 | 23T68328F91 | Electrolytic 470 uF/100V C7246 |08T61642F22 |Mica 56 pF/500V
C7105 | 23541198U39 | Electrolytic 100 uF/100V C7247 |08T61642F22 |Mica 56 pF/500V
C7248 | 08T61642F22 |Mica 56 pF/500V
C7106 | 23541198039 | Electrolytic 100 uF/100V C7249 | 08S40656F21 |Mylar 0.047 uF
C7107 | 23541198042 | Electrolytic 220 uF/25V C7250 | 08S40656F21 |Mylar 0.047 uF
C7108 | 23541198U42 | Electrolytic 220 uF/25V
C7109 | 23540657F32 | Electrolytic 10 uF/50V C7251 |23T68328F81 |Electrolytic 2.2 uF/100V
C7110 | 23540657F32 | Electrolytic 10 uF/50V C7252 | 23T68328F81 |Electrolytic 2.2 uF/100V
C7255 | 23540657F32 |Electrolytic 10 uF/50




L435

Syr\r‘r::ol Part No. Description Sy’\rlx:’l.)ol Part No. Description
Resistors Power Switch P.C. Board
All resistors are Metal Film, 1/2W 5% unless otherwise
noted Switch
R7102 | 06T56661F55 820 ohm 3W $1101 | 40T70311F01 | Power SDLB1P
R7103 | 06T56661F55 820 ohm 3W
R7104 | 06T55177F77 3.3K ohm 1W
R7105 | 06T55177F77 3.3K ohm 1W
R7106 | 06T55175F59 560 ohm Fuse
R7119 | 06T55175F41 100 ohm F1101 | 65T42077U22 | Semko T-4A
R7120 | 06T55175F41 100 ohm
R7121 | 06T55175F41 100 ohm
R7122 | 06T55175F41 100 ohm Capacitors
R7135 | 06T55175F59 560 ohm
C1101 | 08T57437F09 | Ceramic 0.01 uF
R7136 | 06T55175F59 560 ohm
R7137 | O6T55175F17 10 ohm
R7138 | 06T55175F17 10 ohm
R7139 | 06T55175F17 10 ohm Volume P.C. Board
R7140 | 06T55175F17 10 ohm Switches
R7141 | 06T55175F17 10 ohm 1107 PM““;?SE;:R” (Cartridge
R7142 | 0BT55175F17 10 ohm S4101 || 40T71245F01 | Push SUFR43 (MONITOR)
R7143 | 06T55175F17 10 ohm
7144 | 06TEB175F17 10 ohm $4103 Push SUFR43 (TAPE 1, 2)
R7145 | 06T55175F17 10 ohm $4105 Push SUFR43 (DUBBING)
S4107 | 40T70239F01 | Push SUN531 (LOW CUT)
R7146 | 06T55175F17 10.ohm S4109 | 40T70239F01 | Push SUN531 (HIGH CUT)
R7147 | O6T55175F17 10 ohm
R7148 | 06T55175F17 10 ohm S4111 | 40T70239F01 | Push SUN531 (MONO)
R7149 | 06T55175F51 2970 ohm S4113 | 40T70239F01 | Push SUN531 (LOUDNESS)
R7150 | 06T55175F51 270 ohm S4115 | 40T70239F01 | Push SUN531 (TONE IN)
R7159 | 06T67397F01 | Cement 0.22 ohm 5W
R7160 | 06T67397F01 | Cement 0.22 ohm 5W Capacitor
R7161 06T67397F01 | Cement 0.22 ohm 5W C4101 | 08T57851F17 | TF 0.22 uf
R7162 | 06T67397F01 | Cement 0.22 ohm 5W C4102 | 08T57851F17 | TF 0.22 uf
R7163 | 06T55177F13 6.8 ohm 1W C4103 | 08S40656F12 | Mylar 8200 pF
C4104 | 08540656F12 | Mylar 8200 pFf
R7164 | 06T55177F13 6.8 ohm 1W C4105 | 08S40656F19 | Mylar 0.033 uf
R7165 | 06T56661F17 10 ohm 3W
R7166 | 06T56661F17 10 ohm 3W C4106 | 08S40656F19 | Mylar 0.033 uf
R7170 | 06T55175F57 470 ohm
R7172 | 06T55175F57 470 ohm
R7179 | 06T55175F33 47 ohm
VR7101 | 18C41732G07 | Volume 1K ohm-B -
VR7102 | 18C41732G07 | Volume 1K ohm-B Resistors
VR4001 | 18T70250F01 | Volume, Rotary 250K ohm
MN (BALANCE CONj
VR4003 | 18T68333F01 | Volume, Rotary 100k ohm
B x 2 {(VOLUME CONT)




‘ L435

SyI\rIr;l‘-:o| Part No. Description Sy“rlr:)t?ol Part No. Description
. Q7122| 48T60556F01 | Transistor, 2SA1306
Function P.C. Board Q7123| 48T58609F01 | Transistor, 25C3182
Switch Q7124 48T58609F01 | Transistor, 25C3182
S2701 | 40T70246F01 | Rotary SRZ (FUNCTION) Q7125| 48T58610F01 | Transistor, 25A1265
Q7126 48T58610F01 | Transistor, 2SA1265
Q7127| 48T58609F01 | Transistor, 25C3182
Function S.T. P.C. Board Q7128| 48T58609F01 | Transistor, 25C3182
Q7129| 48T58610F01 | Transistor, 2SA1265
Switch Q7130 48T58610F01 | Transistor, 25A1265
S4301 | 40T70253F01 |Push SUN121A (FUNCTION Q7131 48T56657F03 | Transistor, 25A899-B
S, T
R7201{ 06TO0007L57 | Resistor, 470 ohm-2W
R7202| 06T0O0007L57 | Resistor, 470 ohm-2W
Tape P.C. Board S1111 | 40T70311F01 | Switch, Power SDLB1P
*Ti 25T70079F01 | Trans., Power
Jacks AT 25T70079F01 | Trans., Power
J4401 | 09T68830F02 | Plate, Phone 4P T5858 =T 25T70079F02 | Trans, Power
J4402 | 09T68830F02 | Plate, Phone 4P T5858
14403 | 09T68830F02 | Plate, Phone 4P T5858
Jaapa | 09T68830F02 | Plate, Phone 4P T5858
Miscellaneous
C1101| 08T57437F09 | Capacitor, Ceramic, 0.01uF
F1101| 656T42077U22 | Fuse, Semko T-4A
u 2 09751831F01 | Socket, Switch M-1615
J7101 | 09T56010F01 | Jack, Headphone M1669
e P 28T43812P02 | Piug, AC Cord
m P 28T43812P02 | Plug, AC Cord
AP 28T68132F01 | AC Cord (SAA)
n P2 09T751830F01 | Plug, Switch P-2120
PL1 65T70299F01 | Lamp, Pilot 12V-40mA
PL2 65T70299F03 | Lamp, Pilot 12V-40mA
(GRN)
PL3 65T70299F02 | Lamp, Pilot 12V-40mA (YEL)
PL4 65T70299F02 | Lamp, Pilot 12V-40mA (YEL)
PL5 65T70299F03 | Lamp, Pilot 12V-40mA
(GRN)
PL6 65T70299F02 | Lamp, Pilot 12V-40mA (YEL)
PL7 65T70299F02 | Lamp, Pilot 12V-40mA (YEL)
Q7105| 48T64376F01 | Transistor, 25C3423
Q7106| 48T64376F01 | Transistor, 25C3423
Q7119] 48T60555F01 | Transistor, 25C3298
Q7120| 48T60655F01 | Transistor, 25C3298
Q7121| 48T60556F01 | Transistor, 2SA1306

® : For SK model only (West Germany model), m : For EK model only (Europe model),
A : For SG model only (England/Australia model), Others: Common

- 10 —




L435 ‘

Cabinet Assembly Parts List

Note: % The parts whose parts numbers are not entered will not be supplied.

E - 2|3 o
E 3 -§ Part No. Description UE>; 2|3 Part No. Description
JL"L1 ¥ Bracket (L) 42 03540012G03 | Screw, Round (M3 x 6)
2 035S44205G02 | Screw, Pan (M3 x 6) 43 03544205G16 | Screw, Countersink (M3 x 6)
3 S Bracket (R) 44 36B67059F01 | Knob, Rotary Volume
4 03C42723U02 | Screw, Cap (M3 x 8) 45 36B66511F04 | Knob, Rotary Volume (B)
5 % Assembly, Tape P.C. Board 46 36B66512F04 | Knob, Rotary Volume (C)
6 * Phone P.C. Board 47 36A67060F01 | Knob, Push Power
7 P Assembly, Main P.C. Board 48 36A67061F01 | Knob, Push (A)
8 03540012G41 | Screw, Tapping (M3 x 8) 49 36A67061F02 | Knob, Push (A)
9 03540018G02 | Screw, Tapping (M3 x 8) 50 36A67062F02 | Knob, Push (B)
10 43T45472F01 | Bushing, YC40B 51 36A57180F01 | Knob, Push (B)
1 29C41045P05 | Lug, Wrap 54MM 52 * Bracket, Trans
12 07A40871F01 | Support, Trans Washer 63 14553018F42 | Insulator (50 x 5)
13 * Assembly, Equalizer 54 14A68459F02 | Insulator, Cover
P.C. Board 55 15C70043F01 | Cover, Top
14 % Bracket, Support 56 43A68460F02 | Bushing
15 43A70226F01 | Spacer, Trans
57 01T71588F01 | Fiat, Cable 12P
16 43A70082F01 | Spacer, Rubber 58 45T70248F01 | Wire, Flex Swr
17 03540036U01 | Screw, W/Washer (M4 x 8) 59 45T771243F01 | Wire, Flex Swr-MM-MC
18 % Power P.C. Board 60 07B67066F01 | Frame, Panel, Side
19 03D40014G04 | Screw, W/Washer (M3 x 6) 61 03540012G93 | Screw, Tapping (M3 x8)
20 S Cover, Bottom
ui62 * Bracket, Voltage Selector
21 61A66858F01 | Filter, Lamp =63 03544205G19 | Screw, Pan (M3 x 8)
22 07B70045F01 | Bracket, Joint
23 43A70227F01 | Spacer, Pipe
24 75A66855F01 | Pad, Trannleg
25 15D70042F01 | Cover, Rear
26 29T66964F01 | Terminal, Ground
27 43B41625J02 | Support Cord
28 ¥ Heat, Sink
29 03S71252F01 |Screw, Pan (M3 x 12)
30 03S71252F03 |Screw, Pan (M3 x 8)
31 09T51410F01 | Holder, Fuse
32 £ Chassis, Front
33 * Assembly, Volume P.C. Board
34 * Bracket, Shield
35 ¥ Assembly, Tone P.C. Board
37 ¥ Assembly, Function
P.C. Board
38 ¥ Assembly, Function S.T.
P.C. Board
39 43A66824F01 |Bush, Lamp
40 43A70228F01 |Bush, Lamp
41 01V71100F27 | Assembly, Front Panel

® : For SK model only (West Germany model), ® : For EK model only (Europe model),
A . For SG model only (England/Australia model), Others: Common

-1 =




Packing Assembly Parts List

‘ L435

Symbol .. Symbol
No. Part No. Description y'::;. ° Part No. Description
101 68P67499F69 | Owner’s Manual
102 56B63425F04 | Sack, Polyethylene
103 56D70052F01 | Tray Packing
104 56D70062F02 | Tray, Packing
1056 56560482F91 | Carton, Packing

Label
54B42124G08 | Serial No. (Rear Cover,
Carton, Packing)
®| 54B44257U01 | Volt {220V) (Carton Packing)
Al 54B44257U02 | Volt {240V) (Carton Packing)
m| 54844257003 | Volt (220V) (Carton Packing)
54857610F11 | Serial No. {Rear Cover)

® - For SK model only (West Germany model}, ® : For EK model only (Europe model),
A : For SG model only (England/Australia model}, Others: Common

— 12—



L435

Destination’s Parts List

POWER SOURCE
Symbol No. Description SK 220V SG 240V EK 220V
West Germany England/Australia Europe

J2 Socket Switch Not Used Not Used 09751831F01
P1 Plug, AC Cord 28T43812P02 28T68132F01 28T43812P02
P2 Plug, Switch Not Used Not Used 09T51830F01
T1 Trans., Power 25T70079F01 25T70079F01 25T70079F02
62 Bracket, Voltage Selector Not Used Not Used *
63 Screw, Pan Not Used Not Used 03544205G19

Label, Volt 54B44257U01 54B44257U02 54B44257U03

Note: % The parts whose parts numbers are not entered will not be supplied.

—~ 13—




LUX CORPORATION, JAPAN

2-3, 1-Chome, Minami-Yukigaya, Ohta-ku, Tokyo 145, JAPA|
Phone: 03-726-6211 Telex: 2466953LUXMAN Facsimile: 923-728-7609

68P70142F01 8/85-S >r-inted in Japan





